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FOAT AT KIS0 —
1. T W4T & I fAweqreas | 31 99d § | =9 Agador | i 39w
fRasiaTer® 2 | 3 afafis oft Feawiqar @&l 32 81 T 8, oa: A% [
ST |

2. A= AAAT Il UL LT T AT g | =il sf=es | fiu 1m
9T&al % T U TAIATAT eal T TART FX Tohel @, sHH o0 A g fIU
ST ferameft 3% 3 99T I AR staaT 3=+ 7 T 95! Hd i sierd:
AEH FS ATT FF T |

3. YOl AT AT ATHLUMTHE TARM o o7 SATATAA: A IS S0 7 o6 T
AT |

4. SATAF FME | TGt I & (0T AT ST (g LT QT AT |

HSHATHS I T ASH (AT
gz : % (SECTION A)
STATSATI - STAATEAH
UNSEEN READING COMPREHENTION

1. TIH: AR
q  UHIeA AW (TAF AT & g %% 15+% ) 15%2=1
() ASTTHH
(i)  STHTYTIOR
g quiarRw foraa 2x1=2
T T FTURTANT STITEHT: T AAITH: Tlg q3: [HHTE: Aaag: AT |
q AT ST (TAF AT & g %% 15+ ) Yox4=2
(i) =
(i) =T
(i) =TT
(iv) =
[ECIREERECTE
) THIeT A (T AT F g 1975+ 1%2=2
(i) et

(if) =




T quETRd foEd 2x1=2
FE: g T 1 i |

¥ IR ST (TAF W & g 13 ) 1x4=4
(i) Tadt
(i) =
(i) ST
(iv) fagm

T sfidwq 2
AT T / T ThET (T Sfafew o st Awer & ot siw g i)

gve : @ (SECTION B)

HEFAT TATTCAFHTA
SANSKRIT WRITING SKILLS 15 Marks
2. FITYT: (T 9T = g 1 a5 5
(1) T (2) faer=am (3) o<
(4) wrsfrat (5) =g (6) SgHT
(7) 999 (8) STATAL] (9) FutaT:
(10) &=
3. ATw@dy  (T&® AN & fow 1 15+ ) 5

g1 | T AT TAAT STUTerd g | T T T T 3297 aT9T TAAT g | I A ATT
2T BT I Tg<d Ul Aol | SATHL0E 318 8 [ g ¢ I01 375 QU 10 | Hos[uT |
3T oreg AETTATS 8, g 9158 T AT Al — AFIAF Al | o €97 o 9&a1 Hl TANT HT
T AT T T & |9g TaF T Foo[uT § <0 T7 9rsai st Aafhal s a5 dohd
g , Ad: ASH QU STU | AT o TSH SA9d: Fle MU | TUAAT 5 214 T &l 5 ATH
R ST | I AT & [T 1 S 2 |
TUs I (SECTION C)
AT e_H, SaaTeedsd 9 qRad:
qfSaier AT TF deha AT A-a =T
Reading Comprehension and Introduction to History of
Sanskrit Literature 40+10= 50 Marks

4. senforferarrerist , werier , Areiet o IfSaEr TS T AT HEhd 9 |

EDRIE/INE
1. TH9eH ST |TF 9s2 § 3¢ forfawl Answer in one word only. Yo x2=1

i g=m: i, T




2. Qoiarr forga | ot are # 397 forfe |

1x2=2

i grE: Saa-fAaa-gaa-aaraa-Taaa-aTard e Ty gaqer« 3=a+d |

3. FqTASI ST | 79T Haer 3% €W | Answer as directed .

.99 i, T

. g

1. Q’Wﬁ'ﬂ'm | Tsh QTex ﬁ'?ﬁl’(ﬁf@?l Answer in one word only.
i, TEUTITHTIA ii. gy

2. gutaTRae feraa | ot ot § 392 forfe |
i, FSTAT: IR F= H1 QOIIIYOT: Aa i |

3. FATARI SA<q | 79T fA3er 3T ST | Answer as directed .

I STRTL: il. e

T, AT

1. THIH LT |UF 9oreg § 3¢ U Answer in one word only.
i, sraafere: ii. HHTL:

2. quiaTeRaA ferad | o7 A H 39 fofe |
i, T STTEEAT: FAT=AT VAT HUTSTors Tferam: |

3. FATASAH ST | 797 fAger 3% 9w | Answer as directed .

MEERRE ii. 3T
5. srearai @ foraa | st &1 st & e fforg |
i, TS EHE ii. FET™T SFO

iii. TR AOdFA v FATEd AT
6. srenfarfaay aTRy Xa@Tiewaaar= s waf=aior F&d |
. T & QTES(Ed BRI ?
ii. TET el HE OO AT AR ?
iii. TTIEET UY a: oTeATE o oftaeata ?

iv. srfarsTare gratashTed: o HIGLT:/H: F97a?
7. FntefEaaTariaT: Rereamgia aseumreagEaar $9d |

1x2=2

Y2 x2=1

2x1=2

1x2=2

Y2 x2=1

1x2=2

1x2=2

o x 4=2

1 x 4=4

3+3=6

AT - HFoET el T A 9 STR9T:| g 5[ | i. Hgrew: dlH Iq Iq
AL i . TEAI T T U A= 7 A1 AT Fafed | F DY 49

T i, THTOT TEAS = AT JH AH |

qTad: - Fidl: AYg<: 36 T | Tdaqed JgUT i T@IUT Fid rcaasr [Hrsrasaor



TRy AT U i, AFATATRH G =aq | Taq = 914 i, Agave
TroreroT T STt At |
8. srenferferaa: st Rl F&a | 1%+1% =3
A AT — i, TATT qAAT AT i, AL Srfea, (TT) a0
iii. ATE HIE &A1 T |
. e -FLAv: TS e i, urataer: Teateronefi fRrafsrta ii. sreay
- arafaeiorasTasTan.  ferdrer i, a9 |
9. JYTMARI ST [TT fHaer 3T EST | Answer as directed .

. Fgae e = fRga | Far g e 1T 1x2=2
i, A AHTAY | & dqu |
i, FIIOT T AT EUH | HII0T A |

. frdrsafa et fRrga | Frers e 7T 1x2=2
i. 378 Mfseqaar ua a1 U -esamy
i, TAT TEINAT g JI=AT: | FH — T[T

3. AIITaaagacdl: Y@ qaqT9e HIHIT TTIF ? 1x2=2

i HITHTT F2d | ST/ AL

ii. TEAT: IT9TR: g @A Fa: | giEer

<. & % HII(Q ? I hEd Fg T&T g ? Who is saying to whom ? 1x2=2

i Al ART T AT ? S AT qm@e ? AT Ad I

T o o 2
Il T ATAATHEIE qTeH T | qd: AT I

3. RS 9% R | TR 92 T | Select and write the synonyms. 1x2=2
q3: - AT - T
10. &. rNTAITETAGHTAT FEATAHRET FAET ATH forEq | 1x5=5

ATAT-TRTATS AT, SSATE:-HRTHTLAH , |TH:- fergrarerae: | Frferara: - Ta9r:
ATOTAG: - FUATLAH | (30T TS0 Ieom: wiaqe srefea )

q. AN A GaEqHT AgaT AT foreq | 1x5=5
foraSTTosT: — ARawETAT:, FATATH: -TEhall:, BralTqi-TeTard:
AfFerar-wqefy: | Tareamgd - giFavag=:
gvs : % (SECTION D)
BralSATHI: (TT TH AAF)
Metres and Figures of Speech 20 Marks
11, &, WA ST | T & I ST | Answer the questions. 1x2=2
i, T w9 for@d | (159)




ii. ITEERT 3T HETOT: 7 ((L3T07)
. srenffaa Ry T: ad | Feferfaa aRamomst i @ fifem | 1x4=4
i, AR AAEHATSIT ITaT T TSI Tag=dT: |
i, TTHFIEA AT AT |
iii. T wefo™T THAHATT: At |
iv. ITEATS HTES FqaiT: e edd |
q. rnffed-arar: & & e 2 fafeaael & smamas<s ? 1x2=2
i, 1 7 g™ gravaaar | ( feraff)
ii. 77 2 TOgieeey yeqar artavs: | (A7)
T, TH grad: SaTg<l forad | FheT U ©3 &7 30T oy | 2x1=2
AEA AR - JTATTATATT Terad Bar
SRR EERIEETAETURE
AT o 7 ST F=T(d FTed
AP AAAHE Jaafed a«d: |
12. 3. FATAQH ARTASHICE TG0 qeq0f forae | 3x1=3
THH: - IS TATATAT: TLAFAAR: |
T AT A AT |
IO - e TATT Fa= L ARSI |
THA T HIAET AT J1 &7 1
. FAAADET AATASHIET ALTHITRL o foraq | 3x1=3
SYHT- ATIHRIHTHT A< |
A AT A eI RIS T |
AT Tt H T T T
. st ferferaasaar: & sagsn: 3ia foaa ? 1x2=2

i. Tqd T AT /9 qEe At 1 (TEE:)

. <f3|Hs<9hlrdHI‘HH%gulubumusmzl (SUHT:)
. srnferferaa T Tes a | Referied afeamarstt w1 @1 S | 1x2=2

I. A GEATIATHEAT Ih T TAHAT ||

i, T RTATAT: FAgaEad: |
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